
 

Biol 1107 S12 11AM, Test #3 

Short Answer Questions 

Last Initial: 

Sequence 
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3 

Sequence 

The DNA fragments 
complete sequence 
typical gene. 
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Bio11107 
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5 ' ACOGCOATiGI&AAdTGCbAicTA4 
3 ' TGCCCGGTACAATTGACGGTAGATC 
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above 
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CGPTAICAGITTOACGIGTAIGATC 
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I
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ACC 

ACA 

ACG i 

GCU 

GCC 
Val 

 GCA 

GCG j 
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Thr 
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UAC 1 	UGC 

UAA Stop UGA 

UAG Stop UGG 

CAU ` 	CGU 	-1 
His 

CAC 	CGC 

CAA - 	CGA 
Gin 

CAG 	CGG 	j  

AAU 	AGU 
Asn 

AAC 	AGC 

AAA 
Lys 

AGA 

AAG 	AGG 

GAU 	GGU 
Asp 

GAC 	GGC 

GAA 	GGA 

GAG 	GGG 

iArg 

rCys 
I 

Stop 

Trp 

Arg 

I Ser 

Gly 

21. Give the sequence and polarity of two DNA primers 6 nucleotides long that would allow 
you to amplibthe entire fragment. (6 pts) 

5 /A 	(1 /1 

CI 6/ -TAtiHICS  L/-  

22. Assuming the bottom strand is the DNA template used for transcription, what is the 
amino acid sequence of the protein that is produced by sequence #1? (10 pts) 

5 Lb (-) (49(A Hitt c 4-coihto(4 c,/{.Ph 

0 	Me4 SelA - Thin - PI - i I 	6-1-dp 

23. For Sequence #2 
a. On Sequence #2:  circle the nucleotide change that has occurred. (2 pts) 

b. Name the type of mutation that has occurred. (2 pts) 

(Y)iser\Se 
c. BRIEFLY explain how this mutation will affect the protein produced. (3 pts) 

0 	"r‘iiS mtpial will 6i-ill re6a1 4- in 4-he 
(211.eCt Cimino UC i d bein5 proclutfyi, 
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Hae-III 

GG I CC 
CC I GG 

24. The sequence recognized by the restriction enzyme Hae-III is shown at the 
right. The vertical line indicates where the enzyme cuts the DNA strands. 

Use arrows to clearly indicate where this restriction enzyme would cut the 
DNA shown below. (3 pts) 

\i/ 
5' CGATCGGGCCTATGTCAATTG4CTCGAGATATGACGATCCGGCCCCTCG 3' 
3 ' GCTAGCCTGATACAGTTAACCFAGCTCTATACTGCTAGGCTGGGAGC 5' 

25. On the replication fork shown at the 
right, for the LEADING STRAND ONLY, 
clearly draw each of the following in 
the appropriate location: (8 pts) 

• newly replicated DNA 
• RNA primer 
• DNA polymerase 
• helicase 

3' 

17elqe  

A 

B 
26. The figure at the left shows an agarose gel with the sample wells at the top. 

a) BRIEFLY explain why the DNA fragments in bands A and B are in different 
locations. (3 pts) be'  Eleolxvyyjr‘tegoi.,5 bool. s Nip .crvgn,fris  

-17  arcad4 .fro i e , The ► efat &in 	Ibroro 
zoo B. 

b) BRIEFLY explain why band B appears brighter (indicated by band thickness in this image) 
than band A. (3 pts) -77\  

'1? 	H I  fl(Y3e1Cp au 	6nialier) -twin 

awl 	, Band 5 co-4 cti /-)/ roof (0)ito. 

0C Dmi frhorfol ind is -0-0-r 	o9hier 
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